EARAZROREIERT — 2 N—XBISY —F 202157818 (K) 4RE#EFN2H

3‘/9‘9’1’AC h C3Z=m 45%—#% ‘ %zl 2 ‘ [BeEmm]  — | & (&) 15000 RE
[AE4] 1 % :800,000  ~ 237 :280,000 37#%&:160,000 § ~ 4 7 :120,000 @ 5 & :84,000 [
& % B WEBR MK {33 BF (F8) 24 L (BE) | @BIBG | LOF | SIEH | AT | AE | BB FIB) / BE / £EKS
. 4 6 | FEEX 1:36.2 6-6-1-1 |38.6| — 1 458 | FEEE ()
1 Y 8 FaTJIALAH—FK 54.0 (=) (+5) TEIRANER

L:hxex) Bite17 ExXT¥ lN=e)

(5) (=17

N TS BEREE 1:37. i|=il=2=2 . = 4 NS GEF)
2 6 XARILT Ry X @ 5%_0 SIS L € 50 (EREE &
3

X9z T A —F7—K—F B:Ly R FXbY>T ZEA T Y a kRt
R + Tg=g .37 45— . — R GaFn)
3 3|17 aTurT> # 5 | oE 1(337)9 4-4-5-3 | 40.0 6 (4;4) itz |
LN=ANE Box—TJI—7 FU I MG
SN # o6 | NEFM 1:38.1 10-11-7-4 [39.6 | — | 4 | 505 |EFOIF (#An)
4|5]5 vExIT 56.0 ) (-5) |fEEEREZ
R:vavFiheT B:I x40 KT 7 — L

5 _ ft 9 | FEME 1:38.2 5-5-6-7 |40.3| — 9 438 | EEHES ()
]4 tZ714—F A51.0 (1/2) EHES

L:€r/0704 B:7O-75%v b ESitie]
. FERE :38. —7-8- . — NREGE (GFN)
6111 h—T7w—TI % 5 s 1(318)4 7-7-8-8 | 40.2 2 (4:123) Sk
R:vavr>h>7 B:b—TFIXF— ~— 74055
-3 5 # 9 | BESWIZ 1:38.7 11-9-9-9 [ 40.0 | — 10 499 | EEHE (HF)
d ° IS eE ¥ 56.0 (11/2) 47) | EEES
LT IYFLIY BiX4—FaTy bk N 4535
= B4 | BHER 1:39.1 2-2-4-6 | 41.4| — 7 480 | BFEEB] (AN
s 7| A¥=F—~ 54.0 @) o) | mER=
R:Ya—-HTF—/ BNF/AYZHZ INTF—L
5 5 | EEE 1:39.3 3-3-3-5 |41.6| — 3 438 | HOZE GER)
9l7|l9|FNT1+I—+ ¥¢53.0 (3/4) (1) | AHIERE
by RXN=4 B:Aav>xUy 7 TANAS
S = o DnEEFNIE :39. —-12-12- . — gy GeaFn)
101811 Fo b4 IASIR % 5 s 1(329)7 12-12-12-111 40.8 5 (4+319) el
LHIRT TR BFre1xT4% KIFERS
N B 5 | ST 1:39.8 9-10-10-10 [ 41.1 | — 11 454 | IIIF$<RE (AN
1117 10| AV T > 54.0 (1/2) (o) | TEAS
RANZATNGT B:54—) N7 7 — L
. B4 | FEER 1:41.0 8-8-11-12 | 42.4 | — 12 | 485 |JlIBE (A7)
12812 PO~ 7NT A O ®) wa) | B 77— bEVa
R:TVvRa2yz4 B:F K- (B) tAa-—FRL -3 BET7
® I —F—EBIERL
13=zr= 6,7,9,3,4,8,1,12,10,5,2,11
23—F— 6,7,9,3,4,8,1,12,2,10,5,11
Ga=r= 8,6,9,7,3,4,5,1,2,10,12,11
43—+ — 8,6,3,5,9,7,4,1,2,10,11,12
[ RN
B OB 8 260M 714K 6-8 1,170H e & 5-6 540M 3ER 3-6-8 8,530
% B 8 140/ 3-8 530 B 6-5 890 JEH 8-6-3 35,860
6 500M 3-6 3,330 B E 6-8 3,020
3 280M B H 8-6 4,710

ARICOVWTRDTEEERROODE. TR LIV,




